E2.10 = = (12010 ) |- 4 st o Lo
80 = ~F aiol dema,

.n{:l'nmfﬂul:;h:ru.mmw (et = Qe Bl
. il
18 x2=36 %uﬁm# (18)nsld ..;..1.!‘..-__._:..,!:_15; <l

LT, T 1]
: {1.2,3) a%ed aon )
(x-2,2) =8, y+1) 5 dritS yaox g

[ :?q;:_f 1"‘" o -:m_-

J5 (3[5+2 [5) L2

6.78x 2 x 10° W

log x = 0.0088 qﬁ'ﬁ*ﬁ-&d’ "mt o )
x=1 y=2 Faraid Sayloay @

(x - 18- 30) 3 (x#3) 257
x-ym3, xry=9 Fafpald Zey®
%% + 25x + B4 ‘ﬁ.{; (Al
x? + 64 4}; {xiv)
2 _Ex e, x2-4 driidaa i (o)
a®-2a+ 1 2Bl Ue il M (o)
2L5f oot

50 T oolAe SRE,  (xIX)
e T Ve LT (xx)

1-[2 :]ln-[': _"5] Sizded= a8 (i)
A F i b 1277 (i)

{r)
T e s LAl Goxiil)
T e slrble bR (xmiv)
et g A AL P 507 A WL ISP ST (v
AB=B8Cm , BC=7Cm , CA=8Cm L%k /A ABC (xxvi)
T o ol LARAE e (xxwil)
i rﬂd" &
3x 8 =34 -@Cﬂ.krwf:‘m ke

(ALEB)UC -Matﬂ}f#t? C=(2.5,.9),B=(2,4,6), A=(1 ,:,1.5.7}ﬁ (d)r

%"‘lb‘l.fzd- l""‘l_*' al B ——:_ rxd iFﬁ—-F—fn ()
5 -
%mrm*..na‘ﬂ %ﬁ "m

A A ="’+i;- e Tel.2 A )

1-32 , 21, 1em-2x® arbufeidve (i)a

:E+ = = 230 . :I:E-t 10x +1§___;E'.ra=m2
xT= % — 20 XTe A2x & 32 . Xom12x s 35 . -

0.8x - 0.6y = 1 4:!:-__.1)5;::%31--&.» ()

0.6x + 0.8y = 2
mMNL=83Cm, m MN = 4.9 Cm , m LM = 53 Cm .t_"":'.{..-ii..ru': 2 LMN ()

L e AU bE LASALS O o S Seacy - e



